Multiplicar Tres Polinomios (D)

DO

Ot

Simplifique cada expresion.

- (—=8g + 1)(—4g* — 69)(9¢* — ¢* + 647

(=3w? — 8w) (4w’ — 9w (9w® — 5w? — 4w)

(72 — 5x)(—5x + 9)(22° — 32° — 97)

- (40° — ) (=50 — v)(—5v? + v — 8)

(8% — 9t (61 + 8t*)(—6t* + 8t + 617)
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Multiplicar Tres Polinomios (D) Respuestas

)}

Ot

Simplifique cada expresion.

(=8¢ + 1)(—4g" — 69)(9¢" — ¢° + 64%)
— 288¢" + 364¢° + 94¢° + 270¢* — 364°

(=3w? — 8w) (4w’ — 9w?) (9w® — 5w? — 4w)
= —108w'" + 15w? + 721w® — 340w" — 288w°

- (Ta? — 5a)(=5z 4 9)(22° — 32% — 9x)
= —702°% + 2812° — 39z* — 6572° + 40522

- (40° — 9 (=50 — v)(—5v® + 5u — 8)
— 100v” — 3050% + 32007 — 28305 — 720°

(8% — 9t (6t + 8t*)(—6t* + 8t° + 617)
= —288¢tM + 324413 + 800t — 5164 — 432¢1°
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